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U Avg= 12,343 0§ 3,1,5,6,73
AVB= §1,8,354,5 56,73

(i) p-p- 31,2

(v) p-A = {5,6.1}

(1) Which tesern) of the AP: 3,8,13,13. ____. ‘:’31(3%8)

:) The 8?‘\!&1} APl
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(M- ) =15
(=1} = '155_ =15

(n-1) =15
N= 54
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100 Were Ligted as taking apble Juice, 50
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as ‘fﬂkma both apple a8 well ag oramg e

guice fMd how wamy studentc were Taking
Neithen apple Jufce Mov orange Juice -

2 ket A be the Set of Students Jcabﬂaab ble
Juice amd B8 be the et o of Studerits
Jcahﬂa oxamﬂe Juice.
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MN0H +CLhﬂ8 oxamge Juice = A5
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